Yong-Geun Oh and Rui Wang

Abstract We introduce a family of canonical affine connections on the contact manifold  $(Q, \xi)$ , which is associated to each contact triad  $(Q, \lambda, J)$  where  $\lambda$  is a contact form and  $J: \xi \to \xi$  is an endomorphism with  $J^2 = -id$  compatible to  $d\lambda$ . We call a particular one in this family the *contact triad connection* of  $(Q, \lambda, J)$ and prove its existence and uniqueness. The connection is canonical in that the pull-back connection  $\phi^* \nabla$  of a triad connection  $\nabla$  becomes the triad connection of the pull-back triad  $(Q, \phi^*\lambda, \phi^*J)$  for any diffeomorphism  $\phi : Q \to Q$ . It also preserves both the triad metric  $g := d\lambda(\cdot, J \cdot) + \lambda \otimes \lambda$  and J regarded as an endomorphism on  $TQ = \mathbb{R}\{X_{\lambda}\} \oplus \xi$ , and is characterized by its torsion properties and the requirement that the contact form  $\lambda$  be holomorphic in the *CR*-sense. In particular, the connection restricts to a Hermitian connection  $\nabla^{\pi}$  on the Hermitian vector bundle  $(\xi, J, g_{\xi})$  with  $g_{\xi} = d\lambda(\cdot, J \cdot)|_{\xi}$ , which we call the *contact Hermitian* connection of  $(\xi, J, g_{\xi})$ . These connections greatly simplify tensorial calculations in the sequels (Oh and Wang, The Analysis of Contact Cauchy-Riemann maps I: a priori Ck estimates and asymptotic convergence, preprint. arXiv:1212.5186, 2012; Oh and Wang, Analysis of contact instantons II: exponential convergence for the Morse-Bott case, preprint. arXiv:1311.6196, 2013) performed in the authors' analytic study of the map w, called contact instantons, which satisfy the nonlinear elliptic system of equations

$$\overline{\partial}^n w = 0, \ d(w^*\lambda \circ j) = 0$$

of the contact triad  $(Q, \lambda, J)$ .

Y.-G. Oh (🖂)

Center for Geometry and Physics, Institute for Basic Science (IBS), 77 Cheongam-ro, Nam-gu, Pohang-si, Gyeongsangbuk-do 790-784, Korea

POSTECH, Pohang 790-784, Korea e-mail: yongoh@ibs.re.kr

R. Wang

© Springer Japan 2014

Center for Geometry and Physics, Institute for Basic Science (IBS), 77 Cheongam-ro, Nam-gu, Pohang-si, Gyeongsangbuk-do 790-784, Korea e-mail: rwang@ibs.re.kr

Y.J. Suh et al. (eds.), *Real and Complex Submanifolds*, Springer Proceedings in Mathematics & Statistics 106, DOI 10.1007/978-4-431-55215-4\_5

#### **1** Introduction

Let  $(Q, \xi)$  be a 2n + 1 dimensional contact manifold and a contact form  $\lambda$  be given, which means that the contact distribution  $\xi$  is given as ker  $\lambda$  and  $\lambda \wedge (d\lambda)^n$  nowhere vanishes. On Q, the Reeb vector field  $X_{\lambda}$  associated to the contact form  $\lambda$  is the unique vector field satisfying  $X_{\lambda} \rfloor \lambda = 1$  and  $X_{\lambda} \rfloor d\lambda = 0$ . Therefore the tangent bundle TQ has the splitting  $TQ = \mathbb{R}\{X_{\lambda}\} \oplus \xi$ . We denote by  $\pi : TQ \to \xi$  the corresponding projection.

Now let *J* be a complex structure on  $\xi$ , i.e.,  $J : \xi \to \xi$  with  $J^2 = -id|_{\xi}$ . We extend *J* to *TQ* by defining  $J(X_{\lambda}) = 0$ . We will use such  $J : TQ \to TQ$ throughout the paper. Then we have  $J^2 = -\Pi$  where  $\Pi : TQ \to TQ$  is the unique idempotent with Im  $\Pi = \xi$  and ker  $\Pi = \mathbb{R} \cdot X_{\lambda}$ . We note that we have the unique decomposition  $h = \lambda(h)X_{\lambda} + \pi h$  for any  $h \in TQ$  in terms of the decomposition  $TQ = \mathbb{R} \cdot X_{\lambda} \oplus \xi$ .

**Definition 1 (Contact Triad Metric).** Let  $(Q, \lambda, J)$  be a contact triad. We call the metric defined by  $g(h,k) := \lambda(h)\lambda(k) + d\lambda(\pi h, J\pi k)$  for any  $h, k \in TQ$  the *contact triad metric* associated to the triad  $(Q, \lambda, J)$ .

The main purpose of the present paper is to introduce the notion of the *contact triad connection* of the triad  $(Q, \lambda, J)$  which is the contact analog to the Ehresman-Libermann's notion of *canonical connection* on the almost Kähler manifold  $(M, \omega, J)$ . (See [2, 3, 7, 9, 10] for general exposition on the canonical connection.)

**Theorem 1 (Contact Triad Connection).** Let  $(Q, \lambda, J)$  be any contact triad of contact manifold  $(Q, \xi)$ , and g the contact triad connection. Then there exists a unique affine connection  $\nabla$  that has the following properties:

- *1.*  $\nabla$  *is a Riemannian connection of the triad metric.*
- 2. The torsion tensor of  $\nabla$  satisfies  $T(X_{\lambda}, Y) = 0$  for all  $Y \in TQ$ .
- 3.  $\nabla_{X_{\lambda}} X_{\lambda} = 0$  and  $\nabla_Y X_{\lambda} \in \xi$ , for  $Y \in \xi$ .
- 4.  $\nabla^{\pi} := \pi \nabla|_{\xi}$  defines a Hermitian connection of the vector bundle  $\xi \to Q$  with *Hermitian structure*  $(d\lambda, J)$ .
- 5. The  $\xi$  projection, denoted by  $T^{\pi} := \pi T$ , of the torsion T has vanishing (1, 1)component in its complexification, i.e., satisfies the following properties: for all Y tangent to  $\xi$ ,  $T^{\pi}(JY,Y) = 0$ .
- 6. For  $Y \in \xi$ ,  $\nabla_J Y X_{\lambda} + J \nabla_Y X_{\lambda} = 0$ .

*We call*  $\nabla$  *the contact triad connection.* 

Recall that the leaf space of Reeb foliations of the contact triad  $(Q, \lambda, J)$  canonically carries a (non-Hausdorff) almost Kähler structure which we denote by  $(\hat{Q}, \hat{d\lambda}, \hat{J})$ . We would like to note that Axioms (4) and (5) are nothing but properties of the canonical connection on the tangent bundle of the (non-Hausdorff) almost Kähler manifold  $(\hat{Q}, \hat{d\lambda}, \hat{J}_{\xi})$  lifted to  $\xi$ . (In fact, as in the almost Kähler case, vanishing of (1, 1)-component also implies vanishing of (2, 0)-component and hence the torsion automatically becomes (0, 2)-type.) On the other hand, Axioms (1)–(3) indicate this connection behaves like the Levi-Civita connection when the Reeb direction  $X_{\lambda}$  get involved. Axiom (6) is an extra requirement to connect the information in  $\xi$  part and  $X_{\lambda}$  part, which is used to dramatically simplify our calculation in [14, 15].

In fact, the contact triad connection is one of the  $\mathbb{R}$ -family of affine connections satisfying Axioms (1)–(5) with (6) replaced by

$$\nabla_{JY}X_{\lambda} + J\nabla_{Y}X_{\lambda} = c Y, \quad c \in \mathbb{R}.$$

Contact triad connection corresponds to c = 0 and the connection  $\nabla^{LC} + B_1$  (see Sect. 6 for the expression of  $B_1$ ) corresponds to c = -1.

The contact triad connection (and also the whole  $\mathbb{R}$ -family) we construct here has naturality as stated below.

**Corollary 1 (Naturality).** Let  $\nabla$  be the contact triad connection of the triad  $(Q, \lambda, J)$ . Then for any diffeomorphism  $\phi : Q \to Q$ , the pull-back connection  $\phi^*\nabla$  is the contact triad connection associated to the triad  $(Q, \phi^*\lambda, \phi^*J)$ .

While our introduction of Axiom (6) is motivated by our attempt to simplify the tensor calculations [14], it has a nice geometric interpretation in terms of CR-geometry. (We refer to Definition 4 for the definition for CR-holomorphic k-forms.)

**Proposition 1.** In the presence of other defining properties of contact triad connection, Axiom (6) is equivalent to the statement that  $\lambda$  is holomorphic in the CR-sense.

Some motivations of the study of the canonical connection are in order. Hofer-Wysocki-Zehnder [5,6] derived exponential decay estimates of proper pseudoholomorphic curves with respect to the cylindrical almost complex structure associated to the endomorphism  $J : \xi \to \xi$  in symplectization by bruit force coordinate calculations using some special coordinates around the given Reeb orbit which is rather complicated. Our attempt to improve the presentation of these decay estimates, using the tensorial language, was the starting point of the research performed in the present paper.

We do this in [14, 15] by considering a map  $w : \dot{\Sigma} \to Q$  satisfying the equation

$$\overline{\partial}^{\pi} w = 0, \quad d(w^* \lambda \circ j) = 0 \tag{1}$$

without involving the function a on the contact manifold Q or the symplectization. We call such a map a contact instanton. We refer [4] for the origin of this equation in contact geometry, as well as [14, 15] for the detailed analytic study of priori  $W^{k,2}$ -estimates and asymptotic convergence on punctured Riemann surfaces.

In the course of our studying the geometric analysis of such maps, we need to simplify the tensorial calculations by choosing a special connection as in the (almost) complex geometry. It turns out that for the purpose of taking the derivatives of the map w several times, the contact triad connection on Q is much more convenient and easier to keep track of various terms arising from switching the

order of derivatives than the commonly used Levi-Civita connection. The advantage of the contact triad connection will become even more apparent in [13] where the Fredholm theory and the corresponding index computations in relation to Eq. (1) are developed.

There have been several literatures that studied special connections on contact manifolds, such as [11, 17, 18]. We make some rough comparisons between these connections and the contact triad connection introduced in this paper.

Although all the connections mentioned above are characterized by the torsion properties, one big difference between ours and the ones in [11, 17] is that we don't require  $\nabla J = 0$ , but only  $\nabla^{\pi} J = 0$ . Notice that  $\nabla J = 0$  is equivalent to both  $\nabla^{\pi} J = 0$  and  $\nabla X_{\lambda} \in \mathbb{R} \cdot X_{\lambda}$ . Together with the metric property,  $\nabla J = 0$  also implies  $\nabla X_{\lambda} = 0$ , which is the requirement of the contact metric connection studied in [11, Definition 3.1] as well as the so-called adapted connection considered in [17, Sect. 4]. Our contact triad connection doesn't satisfy this requirement in general, and so is not in these families.

The connections considered in [11, 17] become the canonical connection when lifted to the *symplectization* as an almost Kähler manifold, while our connection and the generalized Tanaka-Webster connection considered by Tanno [18] are canonical for the (non-Hausdorff) almost Kähler manifold  $(\hat{Q}, \hat{d\lambda}, \hat{J}_{\xi})$  lifted to  $\xi$ . (We remark that some other people named their connections the generalized Tanaka-Webster connection with different meanings.)

Difference in our connection and Tanno's shows up in the torsion property of  $T(X_{\lambda}, \cdot)$  among others. It would be interesting to provide the classification of the canonical connections in a bigger family that includes both the contact triad connection and Tanno's generalized Tanaka-Webster connection. Since the torsion of the triad connection is already reduced to the simplest one, we expect that it satisfies better property on its curvature and get better results on the gauge invariant studied in [18].

This paper is a simplified version of [16], to which we refer readers for the complete proofs of various results given in this paper.

## 2 Review of the Canonical Connection of Almost Kähler Manifold

We recall this construction of the canonical connection for almost Kähler manifolds  $(M, \omega, J)$ . A nice and exhaustive discussion on the general almost Hermitian connection is given by Gauduchon in [3] to which we refer readers for more details. (See also [7], [12, Sect. 7.1].)

Assume (M, J, g) an almost Hermitian manifold, which means J is an almost complex structure J and g the metric satisfying  $g(J \cdot, J \cdot) = g(\cdot, \cdot)$ . An affine connection  $\nabla$  is called J-linear if  $\nabla J = 0$ . There always exists a J-linear connection for a given almost complex manifold. We denote by T the torsion tensor of  $\nabla$ .

**Definition 2.** Let (M, J, g) be an almost Hermitian manifold. A *J*-linear connection is called a (the) canonical connection (or a (the) Chern connection) if for any vector field *Y* on *M* there is T(JY, Y) = 0.

Recall that any *J*-linear connection extended to the complexification  $T_{\mathbb{C}}M = TM \otimes_{\mathbb{R}} \mathbb{C}$  complex linearly preserves the splitting into  $T^{(1,0)}M$  and  $T^{(0,1)}M$ . Similarly we can extend the torsion tensor *T* complex linearly which we denote by  $T_{\mathbb{C}}$ . Following the notation of [7], we denote  $\Theta = \Pi' T_{\mathbb{C}}$  the  $T^{(1,0)}M$ -valued two-form, where  $\Pi'$  is the projection to  $T^{(1,0)}M$ . We have the decomposition  $\Theta = \Theta^{(2,0)} + \Theta^{(1,1)} + \Theta^{(0,2)}$ . We can define the canonical connection in terms of the induced connection on the complex vector bundle  $T^{(1,0)}M \to M$ . The following lemma is easy to check by definition.

**Lemma 1.** An affine connection  $\nabla$  on M is a (the) canonical connection if and only if the induced connection  $\nabla$  on the complex vector bundle  $T^{(1,0)}M$  has its complex torsion form  $\Theta = \Pi' T_{\mathbb{C}}$  satisfy  $\Theta^{(1,1)} = 0$ .

We particularly quote two theorems from Gauduchon [3], Kobayashi [7].

**Theorem 2.** On any almost Hermitian manifold (M, J, g), there exists a unique Hermitian connection  $\nabla$  on TM leading to the canonical connection on  $T^{(1,0)}M$ . We call this connection the canonical Hermitian connection of (M, J, g).

We recall that (M, J, g) is almost-Kähler if the fundamental two-form  $\Phi = g(J \cdot, \cdot)$  is closed [8].

**Theorem 3.** Let (M, J, g) be almost Kähler and  $\nabla$  be the canonical connection of  $T^{(1,0)}M$ . Then  $\Theta^{(2,0)} = 0$  in addition, and hence  $\Theta$  is of type (0, 2).

*Remark 1.* It is easy to check by definition (or see [3, 7] for details) that  $\Theta$  is of type (0, 2) is equivalent to say that for all vector fields Y, Z on W, T(JY, Z) = T(Y, JZ) and JT(JY, Z) = T(Y, Z).

Now we describe one way of constructing the canonical connection on an almost complex manifold described in [8, Theorem 3.4] which will be useful for our purpose of constructing the contact analog thereof later. This connection has its torsion which satisfies N = 4T, where N is the Nijenhuis tensor of the almost complex structure J defined as N(X, Y) = [JX, JY] - [X, Y] - J[X, JY] - J[JX, Y]. In particular, the complexification  $\Theta = \Pi' T_{\mathbb{C}}$  is of (0, 2)-type.

We now describe the construction of this canonical connection. Let  $\nabla^{LC}$  be the Levi-Civita connection. Consider the standard averaged connection  $\nabla^{av}$  of multiplication  $J: TM \to TM$ ,

$$\nabla_X^{av} Y := \frac{\nabla_X^{LC} Y + J^{-1} \nabla_X^{LC} (JY)}{2} = \nabla_X^{LC} Y - \frac{1}{2} J (\nabla_X^{LC} J) Y.$$

We then have the following Proposition stating that this connection becomes the canonical connection. Its proof can be found in [8, Theorem 3.4] or from Sect. 2 [3] with a little more strengthened argument by using (3) for the metric property.

**Proposition 2.** Assume that (M, g, J) is almost Kähler, i.e, the two-form  $\omega = g(J, \cdot, \cdot)$  is closed. Then the average connection  $\nabla^{av}$  defines the canonical connection of (M, g, J), i.e., the connection is J-linear, preserves the metric and its complexified torsion is of (0, 2)-type.

In fact, a more general construction of the canonical connection for almost Hermitian manifold is given in [8]. We describe it and in later sections, we will give a contact analog of this construction.

Consider the tensor field Q defined by

$$4Q(X,Y) = (\nabla_{JY}^{LC}J)X + J((\nabla_{Y}^{LC}J)X) + 2J((\nabla_{X}^{LC}J)Y)$$
(2)

for vector fields X, Y on M. It turns out that when (M, g, J) is almost Kähler, i.e., the two form  $g(J, \cdot, \cdot)$  is closed, the sum of the first two terms vanish. In general,  $\nabla := \nabla^{LC} - Q$  is the canonical connection of the almost Hermitian manifold. In fact, we have the following lemma which explains the construction above for almost Kähler case.

**Lemma 2** ((2.2.10) [3]). Assume (M, g, J) is almost Kähler. Then

$$\nabla_{IY}^{LC}J + J(\nabla_{Y}^{LC}J) = 0 \tag{3}$$

and so  $Q(X, Y) = \frac{1}{2}J((\nabla_X^{LC}J)Y).$ 

### **3** Definition of the Contact Triad Connection and Its Consequences

In this section, we associate a particular type of affine connection on Q to the given contact triad  $(Q, \lambda, J)$  which we call *the contact triad connection* of the triple.

We recall  $TQ = \mathbb{R}{X_{\lambda}} \oplus \xi$ , and denote by  $\pi : TQ \to \xi$  the projection. Under this splitting, we may regard a section Y of  $\xi \to Q$  as a vector field  $Y \oplus 0$ . We will just denote the latter by Y with slight abuse of notation. Define  $\nabla^{\pi}$  the connection of the bundle  $\xi \to Q$  by  $\nabla^{\pi} Y = \pi \nabla Y$ .

**Definition 3 (Contact Triad Connection).** We call an affine connection  $\nabla$  on Q the *contact triad connection* of the contact triad  $(Q, \lambda, J)$ , if it satisfies the following properties:

- 1.  $\nabla^{\pi}$  is a Hermitian connection of the Hermitian bundle  $\xi$  over the contact manifold Q with Hermitian structure  $(d\lambda, J)$ .
- 2. The  $\xi$  projection, denoted by  $T^{\pi} := \pi T$ , of the torsion T satisfies the following properties: for all Y tangent to  $\xi$ ,  $T^{\pi}(JY, Y) = 0$ .
- 3.  $T(X_{\lambda}, Y) = 0$  for all  $Y \in TQ$ .
- 4.  $\nabla_{X_{\lambda}} X_{\lambda} = 0$  and  $\nabla_{Y} X_{\lambda} \in \xi$ , for  $Y \in \xi$ .

5. For  $Y \in \xi$ ,  $\nabla_{JY} X_{\lambda} + J \nabla_{Y} X_{\lambda} = 0$ . 6. For any  $Y, Z \in \xi$ ,  $\langle \nabla_{Y} X_{\lambda}, Z \rangle + \langle X_{\lambda}, \nabla_{Y} Z \rangle = 0$ .

It follows from the definition that the contact triad connection is a Riemannian connection of the triad metric. (The statements of this definition are equivalent to those given in the introduction. We state properties of contact triad connection here as above which are organized in the way how they are used in the proofs of uniqueness and existence.)

By the second part of Axiom (4), the covariant derivative  $\nabla X_{\lambda}$  restricted to  $\xi$  can be decomposed into  $\nabla X_{\lambda} = \partial^{\nabla} X_{\lambda} + \overline{\partial}^{\nabla} X_{\lambda}$ , where  $\partial^{\nabla} X_{\lambda}$  (respectively,  $\overline{\partial}^{\nabla} X_{\lambda}$ ) is *J*-linear (respectively, *J*-anti-linear part). Axiom (6) then is nothing but requiring that  $\partial^{\nabla} X_{\lambda} = 0$ , i.e.,  $X_{\lambda}$  is anti *J*-holomorphic in the *CR*-sense. (It appears that this explains the reason why Axiom (5) gives rise to dramatic simplification in our tensor calculations performed in [14].)

One can also consider similar decompositions of one-form  $\lambda$ . For this, we need some digression. Define  $J\alpha$  for a k-form  $\alpha$  by the formula  $J\alpha(Y_1, \dots, Y_k) = \alpha(JY_1, \dots, JY_k)$ .

**Definition 4.** Let  $(Q, \lambda, J)$  be a contact triad. We call a *k*-form is *CR*-holomorphic if  $\alpha$  satisfies

$$\nabla_{X_1} \alpha = 0, \tag{4}$$

$$\nabla_Y \alpha + J \nabla_J \gamma \alpha = 0 \quad \text{for } Y \in \xi.$$
(5)

**Proposition 3.** Axiom (5) is equivalent to the statement that  $\lambda$  is holomorphic in the *CR*-sense in the presence of other defining properties of contact triad connection.

*Proof.* We first prove  $\nabla_{X_{\lambda}}\lambda = 0$  by evaluating it against vector fields on Q. For  $X_{\lambda}$ , the first half of Axiom (4) gives rise to  $\nabla_{X_{\lambda}}\lambda(X_{\lambda}) = -\lambda(\nabla_{X_{\lambda}}X_{\lambda}) = 0$ . For the vector field  $Y \in \xi$ , we compute

$$\nabla_{X_{\lambda}}\lambda(Y) = -\lambda(\nabla_{X_{\lambda}}Y)$$
  
=  $-\lambda(\nabla_{Y}X_{\lambda} + [X_{\lambda}, Y] + T(X_{\lambda}, Y))$   
=  $-\lambda(\nabla_{Y}X_{\lambda}) - \lambda([X_{\lambda}, Y]) - \lambda(T(X_{\lambda}, Y)).$ 

Here the third term vanishes by Axiom (3), the first term by the second part of Axiom (4) and the second term vanishes since

$$\lambda([X_{\lambda}, Y]) = \lambda(\mathscr{L}_{X_{\lambda}}Y) = X_{\lambda}[\lambda(Y)] - \mathscr{L}_{X_{\lambda}}\lambda(Y) = 0 - 0 = 0.$$

Here the first vanishes since  $Y \in \xi$  and the second because  $\mathscr{L}_{X_{\lambda}} \lambda = 0$  by the definition of the Reeb vector field. This proves (4).

We next compute  $J \nabla_Y \lambda$  for  $Y \in \xi$ . For a vector field  $Z \in \xi$ ,

$$(J\nabla_Y\lambda)(Z) = (\nabla_Y\lambda)(JZ) = \nabla_Y(\lambda(JZ)) - \lambda(\nabla_Y(JZ)) = -\lambda(\nabla_Y(JZ))$$

since  $\lambda(JZ) = 0$  for the last equality. Then by the definitions of the Reeb vector field and the triad metric and the skew-symmetry of J, we derive

$$-\lambda(\nabla_Y(JZ)) = -\langle \nabla_Y(JZ), X_\lambda \rangle = \langle JZ, \nabla_Y X_\lambda \rangle = -\langle Z, J \nabla_Y X_\lambda \rangle.$$

Finally, applying (6), we obtain

$$-\langle Z, J \nabla_Y X_\lambda \rangle = \langle Z, \nabla_{JY} X_\lambda \rangle = -\langle \nabla_{JY} Z, X_\lambda \rangle = -\lambda (\nabla_{JY} Z) = (\nabla_{JY} \lambda)(Z).$$

Combining the above, we have derived  $J(\nabla_Y \lambda)(Z) = \nabla_J Y \lambda(Z)$  for all  $Z \in \xi$ . On the other hand, for  $X_{\lambda}$ , we evaluate

$$J(\nabla_Y \lambda)(X_\lambda) = \nabla_Y \lambda(JX_\lambda) = \nabla_Y \lambda(0) = 0.$$

We also compute  $\nabla_{JY}\lambda(X_{\lambda}) = \mathscr{L}_{JY}(\lambda(X_{\lambda})) - \lambda(\nabla_{JY}X_{\lambda}))$ . The first term vanishes since  $\lambda(X_{\lambda}) \equiv 1$  and the second vanishes since  $\nabla_{JY}X_{\lambda} \in \xi$  by the second part of Axiom (4). Therefore we have derived (5).

Combining (4) and (5), we have proved that Axiom (5) implies  $\lambda$  is holomorphic in the *CR*-sense. The converse can be proved by reading the above proof backwards.

From now on, when we refer Axioms, we mean the properties in Definition 3. One very interesting consequence of this uniqueness is the following naturality result of the contact-triad connection.

**Theorem 4 (Naturality).** Let  $\nabla$  be the contact triad connection of the triad  $(Q, \lambda, J)$ . For any diffeomorphism  $\phi : Q \to Q$ , the pull-back connection  $\phi^* \nabla$  is the contact triad connection associated to the triad  $(Q, \phi^* \lambda, \phi^* J)$ .

*Proof.* A straightforward computation shows that the pull-back connection  $\phi^* \nabla$  satisfies all Axioms (1)–(6) for the triad  $(Q, \phi^* \lambda, \phi^* J)$ . Therefore by the uniqueness,  $\phi^* \nabla$  is the canonical connection.

*Remark* 2. An easy examination of the proof of Theorem 4 shows that the naturality property stated in Theorem 4 also holds for the one-parameter family of connections for all  $c \in \mathbb{R}$  (see Sect. 4) among which the canonical connection corresponds to c = 0.

#### **4 Proof of the Uniqueness of the Contact Triad Connection**

In this section, we give the uniqueness proof by analyzing the first structure equation and showing how every axiom determines the connection one forms. In the next two sections, we explicitly construct a connection by carefully examining properties of the Levi-Civita connection and modifying the constructions in [7, 8] for the canonical connection, and then show it satisfies all the requirements and thus the unique contact triad connection.

We are going to prove the existence and uniqueness for a more general family of connections. First, we generalize the Axiom (5) to the following Axiom: For  $Y \in \xi$ ,

$$\nabla_{JY} X_{\lambda} + J \nabla_{Y} X_{\lambda} \in \mathbb{R} \cdot Y, \tag{6}$$

and we denote by Axiom (5; *c*): For a given  $c \in \mathbb{R}$ ,

$$\nabla_{JY}X_{\lambda} + J\nabla_{Y}X_{\lambda} = c Y, \quad Y \in \xi.$$
<sup>(7)</sup>

In particular, Axiom (5) corresponds to Axiom (5; 0).

**Theorem 5.** For any  $c \in \mathbb{R}$ , there exists a unique connection satisfies Axiom (1)–(4), (6) and (5; c).

*Proof (Uniqueness).* Choose a moving frame of  $TQ = \mathbb{R}\{X_{\lambda}\} \oplus \xi$  given by  $\{X_{\lambda}, E_1, \dots, E_n, JE_1, \dots, JE_n\}$  and denote its dual co-frame by  $\{\lambda, \alpha^1, \dots, \alpha^n, \beta^1, \dots, \beta^n\}$ . (We use the Einstein summation convention to denote the sum of upper indices and lower indices in this paper.) Assume the connection matrix is  $(\Omega_j^i)$ ,  $i, j = 0, 1, \dots, 2n$ , and we write the first structure equations as follows

$$d\lambda = -\Omega_0^0 \wedge \lambda - \Omega_k^0 \wedge \alpha^k - \Omega_{n+k}^0 \wedge \beta^k + T^0$$
  

$$d\alpha^j = -\Omega_0^j \wedge \lambda - \Omega_k^j \wedge \alpha^k - \Omega_{n+k}^j \wedge \beta^k + T^j$$
  

$$d\beta^j = -\Omega_0^{n+j} \wedge \lambda - \Omega_k^{n+j} \wedge \alpha^k - \Omega_{n+k}^{n+j} \wedge \beta^k + T^{n+j}$$

Throughout the section, if not stated otherwise, we let i, j and k take values from 1 to n. Denote

$$\Omega_{v}^{u} = \Gamma_{0,v}^{u} \lambda + \Gamma_{k,v}^{u} \alpha^{k} + \Gamma_{n+k,v}^{u} \beta^{k}$$

where  $u, v = 0, 1, \dots, 2n$ . We will analyze each axiom in Definition 3 and show how they set down the matrix of connection one forms.

We first state that Axioms (1) and (2) uniquely determine  $(\Omega_j^i|_{\xi})_{i,j=1,\dots,2n}$ . This is exactly the same as Kobayashi's proof for the uniqueness of Hermitian connection given in [7]. To be more specific, we can restrict the first structure equation to  $\xi$  and get the following equations for  $\alpha$  and  $\beta$  since  $\xi$  is the kernel of  $\lambda$ .

$$d\alpha^{j} = -\Omega_{k}^{j}|_{\xi} \wedge \alpha^{k} - \Omega_{n+k}^{j}|_{\xi} \wedge \beta^{k} + T^{j}|_{\xi}$$
$$d\beta^{j} = -\Omega_{k}^{n+j}|_{\xi} \wedge \alpha^{k} - \Omega_{n+k}^{n+j}|_{\xi} \wedge \beta^{k} + T^{n+j}|_{\xi}$$

We can see  $(\Omega_j^i|_{\xi})_{i,j=1,\dots,2n}$  is skew-Hermitian from Axiom (1). We also notice that from the Remark 1 that Axiom (2) is equivalent to say that  $\Theta^{(1,1)} = 0$ , where  $\Theta = \Pi' T_{\mathbb{C}}$ . Then one can strictly follow Kobayashi's proof of Theorem 2 in [7] and

get  $(\Omega_j^i|_{\xi})_{i,j=1,\dots,2n}$  are uniquely determined. For this part, we refer readers to the proofs of [7, Theorems 1.1 and 2.1].

In the rest of the proof, we will clarify how the Axioms (3), (4), (5;*c*), (6) uniquely determine  $\Omega^0_{\cdot}$ ,  $\Omega^{\cdot}_{0}$  and  $(\Omega^i_j(X_{\lambda}))_{i,j=1,\cdots,2n}$ . Compute the first equality in Axiom (4) and we get

$$\nabla_{X_{\lambda}} X_{\lambda} = \Gamma_{0,0}^{0} X_{\lambda} + \Gamma_{0,0}^{k} E_{k} + \Gamma_{0,0}^{n+k} J E_{k} = 0.$$

Hence

$$\Gamma_{0,0}^{0} = 0, \quad \Gamma_{0,0}^{k} = 0, \quad \Gamma_{0,0}^{n+k} = 0$$
 (8)

The second claim in Axiom (4) is equal to say

$$\nabla_{E_k} X_{\lambda} \in \xi, \quad \nabla_{JE_k} X_{\lambda} \in \xi.$$
(9)

Similar calculation shows that

$$\Gamma_{k,0}^{0} = 0, \quad \Gamma_{n+k,0}^{0} = 0.$$
 (10)

Now the first vanishing in (8) together with (10) uniquely settle down

$$\Omega_0^0 = \Gamma_{0,0}^0 \lambda + \Gamma_{k,0}^0 \alpha^k + \Gamma_{n+k,0}^0 \beta^k = 0.$$

The vanishing of second and third equality in (8) will be used to determine  $\Omega_0$  in the later part. From Axiom (3), we can get

$$\Gamma_{j,0}^{k} - \Gamma_{0,j}^{k} = \langle [E_j, X_{\lambda}], E_k \rangle = -\langle \mathscr{L}_{X_{\lambda}} E_j, E_k \rangle$$
(11)

$$\Gamma_{n+j,0}^{k} - \Gamma_{0,n+j}^{k} = \langle [JE_j, X_{\lambda}], E_k \rangle = -\langle \mathscr{L}_{X_{\lambda}}(JE_j), E_k \rangle$$
(12)

and

$$\Gamma_{j,0}^{n+k} - \Gamma_{0,j}^{n+k} = \langle [E_j, X_\lambda], JE_k \rangle = -\langle \mathscr{L}_{X_\lambda} E_j, JE_k \rangle$$
(13)

$$\Gamma_{n+j,0}^{n+k} - \Gamma_{0,n+j}^{n+k} = \langle [E_j, X_\lambda], JE_k \rangle = -\langle \mathscr{L}_{X_\lambda}(JE_j), JE_k \rangle.$$
(14)

From Axiom (5; c), we have

$$\Gamma_{j,0}^k + \Gamma_{n+j,0}^{n+k} = 0 \tag{15}$$

$$\Gamma_{j,0}^{n+k} - \Gamma_{n+j,0}^k = -c\delta_{j,k}.$$
(16)

Now we show how to determine  $\Omega_0^j$  for j = 1, ..., 2n. For this purpose, we calculate  $\Gamma_{j,0}^k$ . First, by using (15), we write  $\Gamma_{j,0}^k = \frac{1}{2}\Gamma_{j,0}^k - \frac{1}{2}\Gamma_{n+j,0}^{n+k}$ .

Furthermore, using (11) and (14), we have

$$\begin{split} \Gamma_{j,0}^{k} &= \frac{1}{2} \Gamma_{j,0}^{k} - \frac{1}{2} \Gamma_{n+j,0}^{n+k} \\ &= \frac{1}{2} (\Gamma_{0,j}^{k} - \langle \mathscr{L}_{X_{\lambda}} E_{j}, E_{k} \rangle) - \frac{1}{2} (\Gamma_{0,n+j}^{n+k} - \langle \mathscr{L}_{X_{\lambda}} (JE_{j}), JE_{k} \rangle) \\ &= \frac{1}{2} (\Gamma_{0,j}^{k} - \Gamma_{0,n+j}^{n+k}) - \frac{1}{2} (\langle \mathscr{L}_{X_{\lambda}} E_{j}, E_{k} \rangle - \langle \mathscr{L}_{X_{\lambda}} (JE_{j}), JE_{k} \rangle) \\ &= \frac{1}{2} (\Gamma_{0,j}^{k} - \Gamma_{0,n+j}^{n+k}) - \frac{1}{2} \langle \mathscr{L}_{X_{\lambda}} E_{j} + J \mathscr{L}_{X_{\lambda}} (JE_{j}), E_{k} \rangle \\ &= \frac{1}{2} (\Gamma_{0,j}^{k} - \Gamma_{0,n+j}^{n+k}) - \frac{1}{2} \langle J (\mathscr{L}_{X_{\lambda}} J) E_{j}, E_{k} \rangle \\ &= \frac{1}{2} (\Gamma_{0,j}^{k} - \Gamma_{0,n+j}^{n+k}) + \frac{1}{2} \langle (\mathscr{L}_{X_{\lambda}} J) JE_{j}, E_{k} \rangle \end{split}$$

Notice the first term vanishes by Axiom (2). In particular, that is from  $\nabla_{X_{\lambda}} J = 0$ . Hence we get

$$\Gamma_{j,0}^{k} = \frac{1}{2} \langle (\mathscr{L}_{X_{\lambda}} J) J E_{j}, E_{k} \rangle.$$
(17)

Following the same idea, we use (16) and will get

$$\Gamma_{j,0}^{n+k} = -\frac{1}{2}c\delta_{jk} + \frac{1}{2}\langle (\mathscr{L}_{X_{\lambda}}J)JE_j, JE_k \rangle.$$

Then substituting this into (15) and (16), we have

$$\Gamma_{n+j,0}^{k} = \frac{1}{2}c\delta_{jk} + \frac{1}{2}\langle (\mathscr{L}_{X_{\lambda}}J)JE_{j}, JE_{k} \rangle = \frac{1}{2}c\delta_{jk} - \frac{1}{2}\langle (\mathscr{L}_{X_{\lambda}}J)E_{j}, E_{k} \rangle.$$

and

$$\Gamma_{n+j,0}^{n+k} = -\frac{1}{2} \langle (\mathscr{L}_{X_{\lambda}} J) J E_j, E_k \rangle = \frac{1}{2} \langle (\mathscr{L}_{X_{\lambda}} J) E_j, J E_k \rangle.$$

Together with (8),  $\Omega_0$  is uniquely determined by this way.

Furthermore (11)–(14), uniquely determine  $\Omega_{i}^{i}(X_{\lambda})$  for i, j = 1, ..., 2n.

Notice that for any  $Y \in \xi$ , we derive  $\nabla_{X_{\lambda}}Y \in \xi$  from Axiom (3). This is because the axiom implies  $\nabla_{X_{\lambda}}Y = \nabla_{Y}X_{\lambda} + \mathscr{L}_{X_{\lambda}}Y$  and the latter is contained in  $\xi$ : the second part of Axiom (4) implies  $\nabla_{Y}X_{\lambda} \in \xi$  and the Lie derivative along the Reeb vector field preserves the contact structure  $\xi$ . It then follows that  $\Gamma_{0,l}^{0} = 0$  for l = 1, ..., 2n. At the same time, Axiom (6) implies  $\Gamma_{j,k}^{0} = -\Gamma_{j,0}^{k}$ . for j, k = 1, ..., 2n. Hence together with (10),  $\Omega^{0}$  is uniquely determined. This finishes the proof. We end this section by giving a summary of the procedure we take in the proof of uniqueness which actually indicates a way how to construct this connection in later sections.

First, we use the Hermitian connection property, i.e., Axiom (1) and torsion property Axiom (2), i.e.,  $T^{\pi}|_{\xi}$  has vanishing (1, 1) part, to uniquely fix the connection on  $\xi$  projection of  $\nabla$  when taking values on  $\xi$ .

Then we use the metric property  $\langle X_{\lambda}, \nabla_Y Z \rangle + \langle \nabla_Y X_{\lambda}, Z \rangle = 0$ , for any  $Y, Z \in \xi$ , to determine the  $X_{\lambda}$  component of  $\nabla$  when taking values in  $\xi$ .

To do this, we need the information of  $\nabla_Y X_{\lambda}$ . As mentioned before the second part of Axiom (4) enables us to decompose  $\nabla X_{\lambda} = \partial^{\nabla} X_{\lambda} + \overline{\partial}^{\nabla} X_{\lambda}$ . The requirement  $\nabla_{X_{\lambda}} J = 0$  in Axiom (1) implies  $\nabla_{X_{\lambda}} (JY) - J \nabla_{X_{\lambda}} Y = 0$ . Axiom (3), the torsion property  $T(X_{\lambda}, Y) = 0$ , then interprets this one into

$$\nabla_{JY} X_{\lambda} - J \nabla_{Y} X_{\lambda} = -(\mathscr{L}_{X_{\lambda}} J) Y$$

which is also equivalent to saying

$$J\overline{\partial}_{Y}^{\nabla}X_{\lambda} = \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)Y \quad \text{or } \overline{\partial}_{Y}^{\nabla}X_{\lambda} = \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)JY.$$
(18)

It turns out that we can vary Axiom (5) by replacing it to (5;c)

$$\nabla_{JY} X_{\lambda} + J \nabla_{Y} X_{\lambda} = cY, \text{ or equivalently } \partial_{Y}^{\nabla} X_{Y} = \frac{c}{2}Y$$
 (19)

for any given real number c. This way we shall have one-parameter family of affine connections parameterized by  $\mathbb{R}$  each of which satisfies Axioms (1)–(4) and (6) with (5) replaced by (5;c).

When c is fixed, i.e., under Axiom (5; c), we can uniquely determine  $\nabla_Y X_{\lambda}$  to be

$$\nabla_Y X_{\lambda} = -\frac{1}{2} c J Y + \frac{1}{2} (\mathscr{L}_{X_{\lambda}} J) J Y.$$

Therefore,  $\nabla_Y$ ,  $Y \in \xi$  is uniquely determined in this process by getting the formula of  $\nabla_Y X_{\lambda}$  when combined with the torsion property. Then the remaining property  $\nabla_{X_{\lambda}} X_{\lambda} = 0$  now completely determines the connection.

## 5 Properties of the Levi-Civita Connection on Contact Manifolds

From the discussion in previous sections, the only thing left to do for the existence of the contact triad connection is to globally define a connection such that it can patch the  $\xi$  part of  $\nabla|_{\xi}$  and the  $X_{\lambda}$  part of it. In particular, we seek for a connection that satisfies the following properties:

- 1. it satisfies all the algebraic properties of the canonical connection of almost Kähler manifold [7] when restricted to  $\xi$ .
- 2. it satisfies metric property and has vanishing torsion in  $X_{\lambda}$  direction.

The presence of such a construction is a manifestation of delicate interplay between the geometric structures  $\xi$ ,  $\lambda$ , and J in the geometry of contact triads  $(Q, \lambda, J)$ . In this regard, the closeness of  $d\lambda$  and the definition of Reeb vector field  $X_{\lambda}$  play important roles. In particular  $d\lambda$  plays the role similar to that of the fundamental two-form  $\Phi$  in the case of almost Kähler manifold [8] (in a non-strict sense) in that it is closed.

This interplay is reflected already in several basic properties of the Levi-Civita connection of the contact triad metric exposed in this section. We list these properties but skip most proofs of them in this section since most results are wellknown in Blair's book [1]. We also refer readers to [16] for the complete proof with the same convention.

Recall that we have extend J to TQ by defining  $J(X_{\lambda}) = 0$ . Denote by  $\Pi$ :  $TQ \rightarrow TQ$  the idempotent associated to the projection  $\pi : TQ \rightarrow \xi$ , i.e., the endomorphism satisfying  $\Pi^2 = \Pi$ , Im  $\Pi = \xi$ , and ker  $\Pi = \mathbb{R}\{X_{\lambda}\}$ . We have now  $J^2 = -\Pi$ . Moreover, for any connection  $\nabla$  on Q,

$$(\nabla J)J = -(\nabla \Pi) - J(\nabla J).$$
<sup>(20)</sup>

Notice for  $Y \in \xi$ , we have

$$\Pi(\nabla\Pi)Y = 0, \quad (\nabla\Pi)X_{\lambda} = -\Pi\nabla X_{\lambda}.$$
(21)

Denote the triad metric g as  $\langle \cdot, \cdot \rangle$ . By definition, we have

$$\langle X, Y \rangle = d\lambda(X, JY) + \lambda(X)\lambda(Y)$$
  
 $d\lambda(X, Y) = d\lambda(JX, JY)$ 

which gives rise to the following identities

**Lemma 3.** For all X, Y in TQ, 
$$\langle JX, JY \rangle = d\lambda(X, JY), \langle X, JY \rangle = -d\lambda(X, Y), and \langle JX, Y \rangle = -\langle X, JY \rangle.$$

However, we remark  $\langle JX, JY \rangle \neq \langle X, Y \rangle$  in general now, and hence there is no obvious analog of the fundamental 2 form  $\Phi$  defined as in [8] for the contact case. This is the main reason that is responsible for the differences arising in the various relevant formulae between the contact case and the almost Hermitian case.

The following preparation lemma says that the linear operator  $\mathscr{L}_{X_{\lambda}}J$  is symmetric with respect to the metric  $g = \langle \cdot, \cdot \rangle$ .

Lemma 4 (Lemma 6.2 [1]). For 
$$Y, Z \in \xi$$
,  $\langle (\mathscr{L}_{X_{\lambda}}J)Y, Z \rangle = \langle Y, (\mathscr{L}_{X_{\lambda}}J)Z \rangle$ .

The following simple but interesting lemma shows that the Reeb foliation is a geodesic foliation for the Levi-Civita connection (and so for the contact triad connection) of the contact triad metric.

**Lemma 5** ([1]). For any vector field Z on Q,

$$\nabla_Z^{LC} X_\lambda \in \xi, \tag{22}$$

and

$$\nabla_{X_{\lambda}}^{LC} X_{\lambda} = 0.$$
<sup>(23)</sup>

Next we state the following lemma which is the contact analog to the Prop 4.2 in [8] for the almost Hermitian case. The proof of this lemma can be also extracted from [1, Corollary 6.1] and so we skip it but refer [16] for details.

Lemma 6. Consider the Nijenhuis tensor N defined by

$$N(X, Y) = [JX, JY] - [X, Y] - J[X, JY] - J[JX, Y]$$

as in the almost complex case. For all X, Y and Z in TQ,

$$2\langle (\nabla_X^{LC} J)Y, Z \rangle = \langle N(Y, Z), JX \rangle$$
$$-\langle JX, JY \rangle \lambda(Z) + \langle JX, JZ \rangle \lambda(Y)$$

In particular, we obtain the following corollary.

**Corollary 2.** For  $Y, Z \in \xi$ ,

$$2\langle (\nabla_Y^{LC}J)X_{\lambda}, Z \rangle = -\langle (\mathscr{L}_{X_{\lambda}}J)Z, Y \rangle + \langle Y, Z \rangle$$
  
$$2\langle (\nabla_Y^{LC}J)Z, X_{\lambda} \rangle = \langle (\mathscr{L}_{X_{\lambda}}J)Z, Y \rangle - \langle Y, Z \rangle$$
  
$$2\langle (\nabla_X^{LC}J)Y, Z \rangle = \langle N(Y, Z), JX \rangle.$$

*Proof.* This is a direct corollary from Lemma 6 except that we also use

$$N(X_{\lambda}, Z) = -J(\mathscr{L}_{X_{\lambda}}J)Z$$
(24)

$$N(Z, X_{\lambda}) = J(\mathscr{L}_{X_{\lambda}}J)Z.$$
(25)

for the first two conclusions.

Straightforward calculations give the following lemma which is the contact analog of the fact that the Nijenhuis tensor is of (0, 2)-type.

56

**Lemma 7.** For  $Y, Z \in \xi$ ,

$$JN(Y, JZ) - \Pi N(Y, Z) = 0$$
$$\Pi N(Y, JZ) + \Pi N(Z, JY) = 0.$$

Together with the last equality in Corollary 2 and Lemma 7, we obtain the following lemma, which is the contact analog to Lemma 2. Lemma 8.

$$\Pi(\nabla_{IY}^{LC}J)X + J(\nabla_{Y}^{LC}J)X = 0.$$
<sup>(26)</sup>

The following result is an immediate but important corollary of Corollary 2 and the property  $\nabla_{X_{\lambda}} X_{\lambda} = 0$  of  $X_{\lambda}$ , which plays an essential role in our construction of the contact triad connection.

## **Proposition 4 (Corollary 6.1 [1]).** $\nabla_{X_{\lambda}}^{LC} J = 0.$

The following is equivalent to the second part of Lemma 6.2 [1] after taking into consideration of different sign convention of the definition of compatibility of J and  $d\lambda$ .

**Lemma 9 (Lemma 6.2 [1]).** For any  $Y \in \xi$ , we have  $\nabla_Y^{LC} X_{\lambda} = \frac{1}{2}JY + \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)JY$ .

#### 6 Existence of the Contact Triad Connection

In this section, we establish the existence theorem of the contact triad connection in two stages.

Before we give the construction, we first remark the relationship between the connections of two different c's. Denote by  $\nabla^{\lambda;c}$  the unique connection associated to the constant c, which we are going to construct. The following proposition shows that  $\nabla^{\lambda;c}$  and  $\nabla^{\lambda;c'}$  for two different nonzero constants with the same parity are essentially the same in that it arises from the scale change of the contact form. We skip the proof since it is straightforward.

**Proposition 5.** Let  $(Q, \lambda, J)$  be a contact triad and consider the triad  $(Q, a\lambda, J)$  for a constant a > 0. Then  $\nabla^{a\lambda;1} = \nabla^{\lambda;a}$ .

In regard to this proposition, one could say that for each given contact structure  $(Q, \xi)$ , there are essentially two inequivalent  $\nabla^0$ ,  $\nabla^1$  (respectively three,  $\nabla^0$ ,  $\nabla^1$  and  $\nabla^{-1}$ , if one fixes the orientation) choice of triad connections for each given projective equivalence class of the contact triad  $(Q, \lambda, J)$ . In this regard, the connection  $\nabla^0$  is essentially different from others in that this argument of scaling procedure of contact form  $\lambda$  does not apply to the case a = 0 since it would lead to the zero form  $0 \cdot \lambda$ . This proposition also reduces the construction essentially two connections of  $\nabla^{\lambda;0}$  and  $\nabla^{\lambda;1}$  (or  $\nabla^{\lambda;-1}$ ).

In the rest of this section, we will explicitly construct  $\nabla^{\lambda;-1}$  and  $\nabla^{\lambda;c}$  in two stages, by construct the potential tensor *B* from the Levi-Civita connection, i.e., by adding suitable tensors *B* to get  $\nabla^B = \nabla^{LC} + B := \nabla^{LC} + B_1 + B_2$ .

In the first stage, motivated by the construction of the canonical connection on almost Kähler manifold and use the properties of the Levi-Civita connection we extracted in the previous section, we construct the connection  $\nabla^{tmp;1}$  and show that it satisfies Axioms (1)–(4), (5;–1), (6).

In the second stage, we modify  $\nabla^{tmp;1}$  to get  $\nabla^{tmp;2}$  by deforming the property (5;-1) thereof to (5;*c*) leaving other properties of  $\nabla^{tmp;1}$  intact. This  $\nabla^{tmp;2}$  then satisfies all the axioms in Definition 3.

## 6.1 Modification 1; $\nabla^{tmp;1}$

Define an affine connection  $\nabla^{tmp;1}$  by the formula

$$\nabla_{Z_1}^{tmp;1} Z_2 = \nabla_{Z_1}^{LC} Z_2 - \Pi P(\Pi Z_1, \Pi Z_2)$$

where the bilinear map  $P : \Gamma(TQ) \times \Gamma(TQ) \to \Gamma(TQ)$  over  $C^{\infty}(Q)$  is defined by

$$4P(X,Y) = (\nabla_{JY}^{LC}J)X + J((\nabla_{Y}^{LC}J)X) + 2J((\nabla_{X}^{LC}J)Y)$$
(27)

for vector fields X, Y in Q. (To avoid confusion with our notation Q for the contact manifold and to highlight that P is not the same tensor field as Q but is the contact analog thereof, we use P instead for its notation.) From (26), we have now

$$\Pi P(\Pi Z_1, \Pi Z_2) = \frac{1}{2} J((\nabla_{\Pi Z_1}^{LC} J) \Pi Z_2).$$

According to the remark made in the beginning of the section, we choose  $B_1$  to be

$$B_1(Z_1, Z_2) = -\Pi P(\Pi Z_1, \Pi Z_2) = -\frac{1}{2} J((\nabla_{\Pi Z_1}^{LC} J) \Pi Z_2).$$
(28)

First we consider the induced vector bundle connection on the Hermitian bundle  $\xi \to Q$ , which we denote by  $\nabla^{tmp;1,\pi}$ : it is defined by

$$\nabla_X^{tmp;1,\pi}Y := \pi \nabla_X^{tmp;1}Y \tag{29}$$

for a vector field Y tangent to  $\xi$ , i.e., a section of  $\xi$  for arbitrary vector field X on Q. We now prove the J linearity of  $\nabla^{tmp;1,\pi}$ .

**Lemma 10.** Let  $\pi : TQ \to \xi$  be the projection. Then  $\nabla_X^{tmp;1,\pi}(JY) = J\nabla_X^{tmp;1,\pi}Y$  for  $Y \in \xi$  and all  $X \in TQ$ .

#### *Proof.* For $X \in \xi$ ,

$$\nabla_{X}^{Imp;1}(JY) = \nabla_{X}^{LC}(JY) - \Pi P(X, JY)$$

$$= (J\nabla_{X}^{LC}Y + (\nabla_{X}^{LC}J)Y) - \frac{1}{2}J((\nabla_{X}^{LC}J)JY)$$

$$= J\nabla_{X}^{LC}Y + (\nabla_{X}^{LC}J)Y - \frac{1}{2}\Pi((\nabla_{X}^{LC}J)Y) + \frac{1}{2}J((\nabla_{X}^{LC}\Pi)Y) \quad (30)$$

$$= J\nabla_{X}^{LC}Y + (\nabla_{X}^{LC}J)Y - \frac{1}{2}\Pi((\nabla_{X}^{LC}J)Y)$$

where we use (20) to get the last two terms in the third equality and use (21) to see that the last term in (30) vanishes. Hence,

$$\pi \nabla_X^{tmp;1}(JY) = \pi \nabla_X^{tmp;1}(JY) = J \nabla_X^{LC} Y + \frac{1}{2} \pi ((\nabla_X^{LC} J)Y).$$

On the other hand, we compute

$$J\pi \nabla_X^{tmp;1} Y = J\left(\nabla_X^{LC} Y - \frac{1}{2}J((\nabla_X^{LC} J)Y)\right) = J\nabla_X^{LC} Y + \frac{1}{2}\pi((\nabla_X^{LC} J)Y).$$

Hence we have now  $\pi \nabla_X^{tmp;1}(JY) = J\pi \nabla_X^{tmp;1}Y$  for  $X, Y \in \xi$ . On the other hand, we notice that  $\nabla_{X_\lambda}^{tmp;1}Y = \nabla_{X_\lambda}^{LC}Y$ . By using Proposition 4, the equality  $\pi \nabla_X^{tmp;1}(JY) = J\pi \nabla_X^{tmp;1}Y$  also holds for  $X = X_\lambda$ , and we are done with the proof.

Next we study the metric property of  $\nabla^{tmp;1}$  by computing  $\langle \nabla^{tmp;1}_X Y, Z \rangle$  +  $\langle Y, \nabla_X^{tmp;1} Z \rangle$  for arbitrary  $X, Y, Z \in TQ$ . Using the metric property of the Levi-Civita connection, we derive

$$\langle \nabla_X^{tmp;1} Y, Z \rangle + \langle Y, \nabla_X^{tmp;1} Z \rangle - X \langle Y, Z \rangle$$
  
=  $\langle \nabla_X^{LC} Y, Z \rangle + \langle Y, \nabla_X^{LC} Z \rangle - X \langle Y, Z \rangle - \langle \Pi P(\Pi X, \Pi Y), Z \rangle - \langle Y, \Pi P(\Pi X, \Pi Z) \rangle$   
=  $- \langle \Pi P(\Pi X, \Pi Y), Z \rangle - \langle Y, \Pi P(\Pi X, \Pi Z) \rangle,$  (31)

The following lemma shows that when  $X, Y, Z \in \xi$  this last line vanishes. This is the contact analog to Proposition 2 whose proof is also similar thereto this time based on Lemma 7. Since we work in the contact case for which we cannot directly quote its proof here, we give complete proof for readers' convenience.

**Lemma 11.** For  $X, Y, Z \in \xi$ ,  $\langle P(X, Y), Z \rangle + \langle Y, P(X, Z) \rangle = 0$ . In particular,

$$\langle \nabla_X^{tmp;1} Y, Z \rangle + \langle Y, \nabla_X^{tmp;1} Z \rangle = X \langle Y, Z \rangle$$

*Proof.* We compute for  $X, Y, Z \in \xi$ ,

$$\langle P(X,Y), Z \rangle + \langle Y, P(X,Z) \rangle$$

$$= \frac{1}{2} \langle J((\nabla_X^{LC}J)Y), Z \rangle + \frac{1}{2} \langle Y, J((\nabla_X^{LC}J)Z) \rangle$$

$$= -\frac{1}{2} \langle (\nabla_X^{LC}J)Y, JZ \rangle - \frac{1}{2} \langle JY, (\nabla_X^{LC}J)Z \rangle$$

$$= -\frac{1}{4} \langle N(Y,JZ), JX \rangle - \frac{1}{4} \langle N(Z,JY), JX \rangle \qquad (32)$$

$$= -\frac{1}{4} \langle \Pi N(Y,JZ) + \Pi N(Z,JY), JX \rangle = 0, \qquad (33)$$

where we use the third equality of Corollary 2 for 
$$(32)$$
 and use the second equality of Lemma 7 for the vanishing of  $(33)$ .

Now, we are ready to state the following proposition.

**Proposition 6.** The vector bundle connection  $\nabla^{tmp;1,\pi} := \pi \nabla^{tmp;1}$  is an Hermitian connection of the Hermitian bundle  $\xi \to Q$ .

*Proof.* What is now left to show is that for any  $Y, Z \in \xi$ ,

$$\langle \nabla_{X_{\lambda}}^{tmp;1}Y, Z \rangle + \langle Y, \nabla_{X_{\lambda}}^{tmp;1}Z \rangle = X_{\lambda} \langle Y, Z \rangle,$$

which immediately follows from our construction of  $\nabla^{tmp;1}$  since

$$\nabla^{tmp;1}_{X_{\lambda}}Y = \nabla^{LC}_{X_{\lambda}}Y, \quad \nabla^{tmp;1}_{X_{\lambda}}Z = \nabla^{LC}_{X_{\lambda}}Z.$$

With direct calculation, one can check the metric property when the Reeb direction gets involved.

**Lemma 12.** For  $Y, Z \in \xi, \langle \nabla_Y^{tmp;1} X_\lambda, Z \rangle + \langle X_\lambda, \nabla_Y^{tmp;1} Z \rangle = 0.$ 

Now we study the torsion property of  $\nabla^{tmp;1}$ . Denote the torsion of  $\nabla^{tmp;1}$  by  $T^{tmp;1}$ . Similar as for the almost Hermitian case, define  $\Theta^{\pi} = \Pi' T_{\mathbb{C}}^{tmp;1,\pi}$ . Here we decompose

$$T^{tmp;1}|_{\xi} = \pi T^{tmp;1}|_{\xi} + \lambda (T^{tmp;1,\pi}|_{\xi}) X_{\lambda}$$

and denote  $T^{tmp;1,\pi}|_{\xi} := \pi T^{tmp;1,\pi}|_{\xi}$ . The proof of the following lemma follows essentially the same strategy as that of the proof of [8, Theorem 3.4]. We give the complete proof for readers' convenience.

**Lemma 13.** *For*  $Y \in \xi$ *,*  $T^{tmp;1}(X_{\lambda}, Y) = 0$ *, and* 

$$T^{tmp;1,\pi}|_{\xi} = \frac{1}{4}N^{\pi}|_{\xi}, \quad \lambda(T^{tmp;1}|_{\xi}) = 0.$$

#### In particular, $\Theta^{\pi}|_{\xi}$ is of (0, 2) form.

*Proof.* Since  $\nabla^{tmp;1} = \nabla^{LC} - \Pi P(\Pi, \Pi)$  and  $\nabla^{LC}$  is torsion free, we derive for  $Y, Z \in \xi$ ,

$$T^{tmp;1}(Y,Z) = T^{LC}(Y,Z) - \Pi P(Y,Z) + \Pi P(Z,Y)$$
  
=  $\frac{1}{2} J \nabla_Y^{LC} J Z - \frac{1}{2} J \nabla_Z^{LC} J Y.$ 

from the general torsion formula.

Next we calculate  $-\Pi P(\Pi Y, \Pi Z) + \Pi P(\Pi Z, \Pi Y)$  using the formula

$$\begin{aligned} \frac{1}{2} J \nabla_Y^{LC} J Z &- \frac{1}{2} J \nabla_Z^{LC} J Y = \frac{1}{4} \pi ([JY, JZ] - \pi [Y, Z] - J [JY, Z] - J [Y, JZ]) \\ &= \frac{1}{4} \pi N(Y, Z). \end{aligned}$$

This follows from the general formula

$$-P(Y,Z) + P(Z,Y) = \frac{1}{4}([JY,JZ] - \Pi[Y,Z] - J[JY,Z] - J[Y,JZ]), \quad (34)$$

whose derivation we refer [16, Appendix].

On the other hand, since the added terms to  $\nabla^{LC}$  only involves  $\xi$ -directions, the  $X_{\lambda}$ -component of the torsion does not change and so

$$\lambda(T^{tmp;1}|_{\varepsilon}) = \lambda(T^{LC}|_{\varepsilon}) = 0.$$

This finishes the proof.

From the definition of  $\nabla^{tmp;1}$ , we have the following lemma from the properties of the Levi-Civita connection in Proposition 5.

**Lemma 14.**  $\nabla_{X_{\lambda}}^{tmp;1}X_{\lambda} = 0$  and  $\nabla_{Y}^{tmp;1}X_{\lambda} \in \xi$  for any  $Y \in \xi$ .

We also get the following property by using Lemma 9 for Levi-Civita connection.

**Lemma 15.** For any  $Y \in \xi$ , we have  $\nabla_Y^{tmp;1} X_{\lambda} = \frac{1}{2}JY + \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)JY$ .

We end the construction of  $\nabla^{tmp;1}$  by summarizing that  $\nabla^{tmp;1}$  satisfies Axioms (1)–(4),(6) and (5;–1), i.e.,  $\nabla^{tmp;1} = \nabla^{\lambda;-1}$ .

## 6.2 Modification 2; $\nabla^{tmp;2}$

Now we introduce another modification  $\nabla^{tmp;2}$  starting from  $\nabla^{tmp;1}$  to make it satisfy Axiom (5;*c*) and preserve other axioms for any given constant  $c \in \mathbb{R}$ . We define  $\nabla^{tmp;2} = \nabla^{tmp;1} + B_2$  for the tensor  $B_2$  given as

$$B_2(Z_1, Z_2) = \frac{1}{2} (1+c) \left( -\langle Z_2, X_\lambda \rangle J Z_1 - \langle Z_1, X_\lambda \rangle J Z_2 + \langle J Z_1, Z_2 \rangle X_\lambda \right).$$
(35)

**Proposition 7.** The connection  $\nabla^{tmp;2}$  satisfies all the properties of the canonical connection with constant c. In particular  $\nabla := \nabla^{tmp;2}$  with c = 0 is the contact triad connection.

*Proof.* The checking of all Axioms are straightforward, and we only do it for Axiom (5;c) here.

$$\nabla_{JY}^{tmp;2} X_{\lambda} + J \nabla_{Y}^{tmp;2} X_{\lambda}$$
  
=  $\nabla_{JY}^{tmp;1} X_{\lambda} - \frac{1}{2} (1+c) JJY + J \nabla_{Y}^{tmp;1} X_{\lambda} - J \frac{1}{2} (1+c) JY$   
=  $-Y + (1+c)Y = cY.$ 

Before ending this section, we restate the following properties which will be useful for calculations involving contact Cauchy-Riemann maps performed in [14, 15].

**Proposition 8.** Let  $\nabla$  be the connection satisfying Axiom (1)–(4),(6) and (5; c), then  $\nabla_Y X_{\lambda} = -\frac{1}{2}cJY + \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)JY$ . In particular, for the contact triad connection,  $\nabla_Y X_{\lambda} = \frac{1}{2}(\mathscr{L}_{X_{\lambda}}J)JY$ .

*Proof.* We already gave its proof in the last part of Sect. 3.

**Proposition 9.** Decompose the torsion of  $\nabla$  into  $T = \pi T + \lambda(T) X_{\lambda}$ . The triad connection  $\nabla$  has its torsion given by  $T(X_{\lambda}, Z) = 0$  for all  $Z \in TQ$ , and for all  $Y, Z \in \xi$ ,

$$\pi T(Y,Z) = \frac{1}{4}\pi N(Y,Z) = \frac{1}{4}\left((\mathscr{L}_{JY}J)Z + (\mathscr{L}_{Y}J)JZ\right)$$
$$\lambda(T(Y,Z)) = d\lambda(Y,Z).$$

*Proof.* We have seen  $\pi T^{tmp;2}|_{\xi} = \pi T^{tmp;1}|_{\xi} = \frac{1}{4}N^{\pi}|_{\xi}$ . On the other hand, a simple computation shows  $N^{\pi}(Y, Z) = (\mathscr{L}_{JY}J)Z - J(\mathscr{L}_{Y}J)Z = (\mathscr{L}_{JY}J)Z + (\mathscr{L}_{Y}J)JZ$ , which proves the first equality.

For the second, a straightforward computation shows

$$\lambda(T^{tmp;2}(Y,Z)) = \lambda(T^{tmp;1}(Y,Z)) + (1+c) \langle JY,Z \rangle = (1+c) d\lambda(Y,Z)$$

for general c. Substituting c = 0, we obtain the second equality. This finishes the proof.

Acknowledgements We thank Luigi Vezzoni and Liviu Nocolaescu for alerting their works [11, 19] on special connections on contact manifolds after the original version of the present paper was posted in the arXiv e-print. We also thank them for helpful discussions. The present work was supported by the IBS project IBS-R003-D1.

62

#### References

- 1. Blair, D.: Riemannian Geometry of Contact and Symplectic Manifolds. Progress in Mathematics, 2nd edn. Birkhäuser, Basel (2010)
- 2. Ehresmann, C., Libermann, P.: Sur les structures presque hermitiennes isotropes. C. R. Acad. Sci. Paris **232**, 1281–1283 (1951)
- Gauduchon, P.: Hermitian connection and Dirac operators. Boll. Un. Math. Ital. B (7) 11(2 Suppl.), 257–288 (1997)
- Hofer, H.: Holomorphic curves and real three-dimensional dynamics. In: GAFA 2000 (Tel Aviv, 1999). Geometric And Functional Analysis, Special Volume, Part II, pp. 674–704 (2000)
- Hofer, H., Wysocki, K., Zehnder, E.: Properties of pseudoholomorphic curves in symplectizations, I: asymptotics. Ann. l'insitut Henri Poincaré, (C) Analyse non linaire 13, 337–379 (1996)
- Hofer, H., Wysocki, K., Zehnder, E.: Correction to "Properties of pseudoholomorphic curves in symplectizations, I: asymptotics". Annales de l'insitut Henri Poincaré, (C) Analyse non linaire 15, 535–538 (1998)
- Kobayashi, S.: Natural connections in almost complex manifolds. In: Expositions in Complex and Riemannian Geometry. Contemporary Mathematics, vol. 332, pp. 153–169. American Mathematical Society, Providence (2003)
- Kobayashi, S., Nomizu, K.: Foundations of Differential Geometry, vol. 2. Wiley, London (1996) (Wiley Classics Library edition)
- 9. Libermann, P.: Sur le probléme d'equivalence de certaines structures infinitésimales. Ann. Mat. Pura Appl. **36**, 27–120 (1954)
- Libermann, P.: Structures presque complexes et autres strucures infinitésimales régulires. Bull. Soc. Math. France 83, 194–224 (1955)
- Nicolaescu, L.: Geometric connections and geometric Dirac operators on contact manifolds. Differ. Geom. Appl. 22, 355–378 (2005)
- 12. Oh, Y.-G.: Symplectic Topology and Floer Homology. Available from http://www.math.wisc.edu/~oh
- 13. Oh, Y.-G.: Analysis of contact instantons III: energy, bubbling and Fredholm theory (in preparation)
- 14. Oh, Y.-G., Wang, R.: The Analysis of Contact Cauchy-Riemann maps I: a priori C<sup>k</sup> estimates and asymptotic convergence, preprint. arXiv:1212.5186 (2012)
- 15. Oh, Y.-G., Wang, R.: Analysis of contact instantons II: exponential convergence for the Morse-Bott case, preprint. arXiv:1311.6196 (2013)
- 16. Oh, Y.-G., Wang, R.: Canonical connection on contact manifolds. arXiv:1212.4817
- 17. Stadtmuller, C.: Adapted connections on metric contact manifolds. J. Geom. Phys. 62(11), 2170–2187 (2012)
- Tanno, S.: Variation problems on contact Riemannian manifolds. Trans. Am. Math. Soc. 314(1), 349–379 (1989)
- Vezzoni, L.: Connections on contact manifolds and contact twistor space. Isr. J. Math. 178, 253–267 (2010)